SH7TEE RIEHGRHF I 2—
S HEsEen R iF EQ E—I— %
R B ERRT

ZitgEr BEmREEFEL241-10

A3 i) IR B RAER

ZEHE

REPEEREHF I —ADFRBRBEXMEFROBAZEZFOREGENEZR D,

EERR Rri [[E3K XY F
M (B EN=) 1 [1,147m(&E2-2m )
" M (F#=0) 2 7,350 (AR EI-AEF A FATILI-ZEERL)
| AR 1 [7,350m(#&E3-AE Al M7 IL3-2% KR
E; CHERERIBA| = 1 17,3500t Z4(i&EI-Am AL b7 V- 2EROIZET
PREFIBA g 1 11,870m A4>A2—OyF T EIZ8Am
FiBRE 1 17,.350m
BIARBIE 1 |BhAR157AR, EY1418, £1E595m, ZFHE2,045m
g |PETEEA kw3 |BeAk157A E1415k, £E596m. FHE2,045
FiRBRE 2 |ZHE2,045n
T[N 2 350t
52 |Ano~FomiE| 68 | 0 [350m1E/2EXBEBEHKEICERET S,
EX 7% 2 |350n

., REENE




=] RE Bt A — ik EEEFEET
AN R

ws| % 7| BE |prer| 8 Byl % m| & ®W| BE
1 AR N (BRI 1,147 m ﬁ%ﬁ?x@ﬂiﬂ@
U s amms e 14,700 " )
2 2 HETEAE 7,350 " 7,350 x4 1[A]
3 CHEBREXER | B 7,350 " 7,350nix4E 1A
4 PRE AR 2 1,870 " 1,870nf x 1[@]
O lrazmpe 7,350 " 7350m x 1]
6 lsixme : = F1E
7 R7IEERLAELY

it A fB AR 1 1" 41 A
8 | a5 1 " %30

Frf B ER

ws| % 7| BE |prer| 8 Byl % m| & ®W| BE
O lmsremmms es 1 = £3[E
"0l s i 1 " 0
Moo= goem 1 " RE RS D
Alnatagsems) A
B lummns 1 =

thit
Clmprmn 1 =

Kt
O | —mmmn 1 =

ERE
B e mp e 1 %

a5




ZEREZNE#R)100mE (1E Y,/ F3E)

AEE=FE ER=LL ESH=2>0400 HEHEX
N R
w8 A Mo| RE (e B % (Bl B MM | & & w =
U imen 0125] & |
BEXE 0125| A
X B0 3 01 [m3 !
1
FREEER
wel A R mE (x| B W (B B M| £ L4 e




B SHEBET  100m(1EY,FE1E)
mE=LL EEY=%20H2 HAE=FIE
N R
ws| A Mo| RE (| B % (Bl B M| & ] W=
) N-T'1-9")-v20Kg
JlRES! To-10- R 2L E ke
EET 033 A
Tni
FREEER
ws| A Mo| RE (| B % (Bl B O | & ] w =




B ZHEREARIEM 100MY(TEIY B F£1E)
mE=F EBEY=%2IH5 HE=FIE
N R
#8| A& Moo| RE (| B % (Bl B O | & L w =
v
3 | A 54 1 2
& PR EmE on 3PS#k 0.0088| H -
KNowiBEr b 00088 H 4
EET 0.0088] A
BEXE 00088 A
&t
Tni
B R
#8| A& Mo| RE (| B % (Bl B O | & L w =




B MREFIEAA 1004 (1@ Y,/ EOFE1E)
mE=F BEEH=20Hd BE=FIE
™ R
S RO RE (x| B O% B4 B | & %A W=
4 \memn | |00mEEY BIRAS
BB 53,;;;;_{ 02 | &
& FEEmE on 3PS#k 0.0088| H -
SRt i 2 E 0.0088| H i
EET 0.0088] A
BEES 00088 A
&t
Tni
FREEER
w8l & RO RE (x| B % B4 B | & %A "=




B A e 10004 (1 E Y 41 @)
" R
w5 % | mE s B % |Mf|l m| & ®m| B =
O lzppzg 67 | &
e
pER I 1 m3
Tm
=+ F=
=R P e
w5 % | mE s B8 % |Mfl m| & ®m| B =




/I=) BASE (F1E)
N BN

we| 4 Fro| WE |mres| B Bl B %8 wE
® lmAmE 127 | &
PRSI 30 &
EHpHA 141 s
AEFE WA 595 ni
ZHENI A 2,045 m

ARER

ZIN = 721N

we| £ Fro| WE |mres| B Bl B %8 wE




B BIAKEE T (FREE1E)

1EY & A 167K £E 595nt, FHE 2,045nt

N BN

wel 4 | WmE |mex| B OB (EA| B @ | £ % B E
7 R7ZIFZEML AR
BIARKEAR 1 =
18- PN N S L PEnS
%*ﬁ @EEHE*#'(X{E,:H%HE) 20kg AY ak'fﬁﬁﬁ
BHRAR|TINFUTS(IEREESR) 15kg A bL{F
= %
5 R 2R
ws| % | RE (paee| B M |Bm| ¥ B| & @B BE




=]

et R R - REFHI B (F- B KOE3E)

TEE & KR 167K EPUEKR) 1418 £E 595m, FHE 2,045m

N R
ws| % | @E |exer| B M |Bm| B M| & B|| BE
8 g mpas : 5
AZFF A 1,000 EHIR 1000ml{E A
& |zvan-(BEH) 1,000 5% 400ccfEF
ULE2TERA (FER%ES)
T-Z N ELE 1,000 f2HR 1000cciEH
B |svoanv-(BE#) 1,000 &R 400ccfEFA
U E2TERA (FERA%ER)
NP VEE 1,000 5% 1000cc{E M
b |zvrAnT-(BEH) 1,000 &R 400cc{E A
ULE2TERA (FER%ES)
£ =
5R M IR ER
Bl 4 g mE Rt B OB O |BA| E O M| € L] R
9 B REIC RSB
R |
= IV 500 fE&HIR  2000gfEfH
(RIFFEZES)
= 22=-)1,1000 1,000 &R 1000cc{ER
(RIFEFR)
B SIVEAEY 500 fF&HIR  2000gfEfH
(RIFFEZES)




B

FHEMFIRRE (F2E)

1[E%,2,045nm
™
% FR g (x| B %A W=
FhEh FRERE 4,090 2,045n X 2]
EER
% Fro| WE |mrezl B %A W=




izl OV FIOEE (BHALA - FRREE2M]., MBIERETR)
1@, /350m
N R
Bs| 4 | RE |Rres| B OB B B %8 W E
A e U 700 | i
R7IZERELA
it 350 m
FiRBRE 700 m
i E N -
(—)—> 20kg{EA
68|y m2zg
MEER
w5l 4 | RE |Rrws| B OB B B %8 R




B ZXHT B L85 E (B #H30CCHR)

N iR

% RO RE (x| B % B4 B | & %A W=
=i 39 |
HAE%E 1 =
EET 02 A
RB%IEXS 1 A
%5 %= i 1 =|
EME 1 =

E 7
FREEER
% RO RE (x| B % B4 B | & % W=




B N EALER 10m3 24 Bl
(2B TSy Y)
N iR
w8 A M| RE (| B % (Bl B M| & L =
NPAVAC LS 252 | H
EBEEXES 04 A
FEAEMNIE 10 m3
1m3:Y !
FREEER
et I = | @E |zl B ¥ (B B O | & 2 & S
SIS OUN
B B
2 31 |
HAE%E 1 =0
— ST 016 | A
Mg 1 H
EME 1 =
= ’f'




=]

ZHEREL-EXRO00mMY)

(FRFLFEDOIERTIER)

N

£ wo| mE B
(24 8)
7oAl |1IL/&R 005 | &
DIA7y7 707 7 W1/ A& 0056 | &
MCPP#& %l 5L/A 001 | &
=5
(H—T7H 8 K) |50000/% 004 |

&
£ wo| mE B




| BE 1 B B (3PS
m R
ws| % W | BE |pevs| B sl m| 2 m| B =
HI)> |
g %
BRAELE A
HebiE A
g &
} T
- =+ F=
Ba ] IE 2R
ws| % e T D sl m| 2 m| B =




izl bovo1 B B E (2h &)

£ mE | mrtE| B ==X v W E
L2 18 |
SHAEE 1 =
— BB F 1 A
HEmE 1 =
e 1 =

=R

£ mE | mrtE| B ==X v W E




